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A. Thomas Cook ],

B. Greta Thunberp 2.
C. Dr. Usha Kiran 3.

The newly appointed Managing Director of LM.F. is

(a) Kristalina Gﬂ.ﬂrgiﬂvﬂ () Christine Lagarde

(c) Raghuram Rajan (d) Surjit Bhalla

The National Programme launched on Qctaber [

2019 by the Indian Government
talented children ro enrich their skills js

(a) LAKSHYA (b) PRATIBHA
(c) DHRUV (d) PARIVARTAN

Match List — I with List — 1T and select the comect

answer from the codes given below the lists :

Recipient of
Bharat-Bharati Award

Hong Kong Leader
Environmental

Activist

. Carrie Lam 4. Brtish Tour and
Travel Company
Codes :
A B C D
@) 1 2 3 4
by 4 2 3 |
f¢) 1 3 4 2
dy 4 3 1 2

The 2019 Nohel Prize for Economics was given to
1 woman for the second time, name the first woman
who was earlier awarded this prize.

(a) Esther Dufio (b) Gerty Theresa Corl

(¢} Maria Goeppert  (d) Elinar Ostrom

Rural Sanitation Strategy launched by Ministry of
Jal Shakti in Séprember 201 9 relates o which of the
[ollowing penods 2
(a) 2019-203%

(€) 20192022

(h) 2019-2029
(d).2019-2024

Central Instivute of Indian [angunages is located at which
of the fallowing places 7
(a) Varanasi

(c) MNew Delly

(b) Mysore
(d} Shimla

India aims to achieve land degradation neotrality
by the year

(a} 2025
(c) 2035

(b} 2030
(d) 204p
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(a) dFeR S (h) & it Fih

(c) AfE S (d) TR 3Ty
figgrert 20198 <71 U AT 210 a1 e oo
Tl WA 9 8 8 fom wafl @ gafim 3 5
{a) 2009-2035 (b) 2019.2029

(c) 2019-2022 (d) 20192004
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fire v W argfing 2 5

(a) SRTOTHT (b) By
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(a) 2025 %F :

(€) 203509

(b) 20307%
(d) 2040
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Which Geosvnchronons Satellite Launch Vehicle
wits used by ISRO 1o Inunch Chandray san-2 space
craft ?

(a) GSLY - MK I - M1

(by GSLW -MKII-M2

(c) GSLY - MK IV - M8

(d) GSLY =MEK V —-M4

Which of the tollowing statements about India's
largest Charkha isfare true ?

. Tl was inaugurited in Naida.

2. It1s made of used plastic waste.

Select Lthe conect unswer from the codes siven below
Codes :

{a) Only |

(c] Both | and 2

(bl Only 2
(d) WNeither | aor 2

Which of the following organisms has while blood 7
(a) Lizard (b) Cockroach
(¢) House bug (d) Mosqguito

Nitrogen fixing bacteria make combination withcells |

of the roots of
(a) Pulses
(c) Wheat

(b) Rice
(d} Sugarcane

What happens when some charge is placed on a
soap bubble ?

{a) Its radius increases
(b} Its radius decreases
{c) The bubble collapses
(d) None of the above

Which of thefollowing pairs is NOT correctly
matched 7
(a) Oxytocin
(b) Aspartame
(] Neoprene
(d) Rayon

Hormone
Synthetic sweetner
Specialized rubber
Modified-starch

Which of the following substances is NOYT a protein ?
[a) Cotton

(b)Y Hair

(c) Spider silk

(d) Hoof
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e T WA A A a2 ¢
(a) GSLV - MK I - MI

(b} GSLY - MK 11 - M2

() GSLV - MK IV - M8

() GSIV - MK V - M4

VT o Tl w2 90 % Ao H Gsfefan @
¥ AT U HE RSA 7

|. THE JgHred AiuEl 0 g |

7. e awE fan wm e et @ oA R
f12 T 32 9 @ w8l I gH

F2 !

() “hae | (h) wHe 2
(c) @Y 2et (y A 12

e daftmfe s mareat ¢

{a) e (by foer=g

(c) TF EZAN (d) T=L

gt Tl sfamg e g 92 F
TAFEAH B 7

fa) et (b) ITE=

fe) TE (d) T

A Pt T % gere 3 smafm e s 2,
M= A mmatadmi 7

(a) = =g = 2

(b) THe = Sl 2

(c) HEEE 1w 6 o

(d) I A § FE 5

(c) TRzl fafire 1ag
(d) ¥ wiAh e

i & & S e W i 7
(a) =FaTg

(b} =71 /==

(e} =@ T TR e

(d) T
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D

d for a long time 10

A liquid remains hot or col ws or gain of

thermos fask because there is no ki
heal by

(a) Conduction

(L) Convection and radiation

(¢) Both (a) and (h)

(d) None of the above

Which of the following glands in human body acts both
- N i [] ” Tr = I?
as 4 endocrine gland as well as an exocrine gland

(0) Adrenal pland (b) Lacrimal gland

(d) Thyroid

(c} Pancreas

Which one of the fullowing materials cantains
calcium 7
{a) Ching clay

(b) Corundum
() Gyvpsum

(d) Talc

Which ane of the following is NOT correct]y

matched ?
(Substance)

_ (LUse)
ta) Silver bromide

artificial
pholosynihesis
artifeeial mun
rcatment of
rheumatism
antacid

(b Silver indide
() Lit]liulnbi[_‘;ll‘hﬁ.':-ﬂﬂ_[ﬂ

(d] Milk of magnes;s

Tulsi plant has medicinal W
of the following

ta) Inorganic Acid

(b) Organic Acid

(c) Phenols and Flavonoids
(d) None of the aboye

Alues dye o the presence

What i true about Eﬂﬁ!*-.}'slzm g

smers - |
MBSt powertyl e e largest ang
With teference ¢ Eliroph;
1l 1 i
Em??ﬁm IS/are corregt 7 90 whigh O the following
-'u.-]E & Wnﬂum&nnn al ey p g
5 _ﬂtEF hﬂd'_-,r. i En“"-'-'-hm':nt of a
3; tll depletes dissoived o men
hﬁ. E:Lt. the COITECt ap WET et thie Waler
elow - Mg the ¢ des p;
Codes - - MES piven
la) 1 anly
'} Both | ang :g; 1%1&?]1”
: =] |
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(a) ETCH

(h) "a&d U fafenter

(c) (a) 3T (b) S

(d) F90F O | Fg T8I

Wﬁrﬁtﬁﬁ?ﬁlﬁrﬁaﬁﬁﬂﬁ=ﬁ’iﬁmmﬁ
w9 "RaE gHl @ wer 6 oy 2 o

(a) Ureer afl (b) Sieqfy

(¢) 3T (d) HuTETEE

ﬁﬁﬁﬁﬁaﬁﬁﬁﬁawﬂﬁ?ﬁﬁmmh
(a) =+ faed (h) e

(c) Ty (d) ==

Feteifed & F-4 vl gt wd 2 0
(s (Foari)

() Feat dmeE FM THT HE
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The environment modified by human activities is
called

(1) Natural environment

(b) Anthropogenic environment
(¢) Urban environment

(d) Maodem environment

Which of the following statement is NOT true 7
{a) Species diversity increases from equator
towards poles.

(b) Tropics harbour more species than temperate
arens.

{c) Greatest bindiversity occurs in Amazonean rain
forest.

(d)} Species diversity decreases from temperate
areas towards poles,

Which one of the following is the well known
example of bioindicator of air poliution 7

(a) Lichens (b} Methyl mercury

(c) Rose plant (d) Sunfower

Which of the following is NOT comectly matched 7
(a) Desalination Seda water
(h] Reverse nsmosis Potable water
(c) Deénaturation Proteins

(d] Pasteurisation Tea

Which of the following is an example of hetbicide
(a) Sodium chlorate

(b} Potassiumpermanganale

() Bleathing pawder

(d) Noneof the above

The gas, which is emitfed in the paddy fields and
increases the earth's iemperature 15

{1) Nitrogen (b) Carbon dioxide

(¢) Carbon monexide (d) Methane

At which of the following places is the Secretarat
of the International Solar Alliance (L.5.A.) located
at present 7
(a) Parnis

{e) Gurugram

'~ (b) New Delhi
(d) New York

|
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The First Union Territory of India to run 100 percent |
on solar engrgy is l
{a) Andaman-Nicobar (b) Chandigarh
(¢) Diu (d) Puduocherry

Girven below are two statements. one 15 labelled as

Assertion (A) and the other as Reason (R).

Assertion (A} : There 15 a positive relation between

Human Development Index (1) and Sustainable

Development Goals (S1I0G) ranking of Indian State.

Reason (R : The underlying dimension of SDG targets

are closely related 1o education and health aspet,

Select the correct answer from the codes miven below !

Codes :

(a) Both (A)and (R) are true and (R) 15 the
comect explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

{c) (A)is true, but (R) is lalse

(d) (A)is false, but (R)is true

Multidimensional poverty index includes ;
1. Health

1. Education

iii. Living Standard

Select correct answer from the cedes given Below :

Codes :
(a) Cnly n is correci
{e) Only i and i are comect  (d) i, ii and 1 afesorrect

(b) Only ib wnd fitgre comect

Arrange the follewing eveals in chrontegical order
of their commienecmentand select commect answer
from the cedes given\below
[ <Wild Life (Protegtion) Act

. Biological Diversity Act

1. Project Tiger
[V. Project Elephant
Codes :

(ay T, II, HI, IV

(c) I, I, IVYL

) LI IV, 1D
(d) ILTIIL 1, IV

Under the Civil Registration System (CRS), it is
legally mandatory 1o register birth and death events

within how many days in India ?

(b) 21 days
(d) 30 days

(a) 15 days
{c) 206 days

IIIIHITIUJIHEIIIL!IHIIHE
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e Fu S w9 @ whEd g e
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() I, 0L 1, IV
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Naticonal Family Health Survey (NFH3) - 5 dowes 34,
not include
ra) High blood pressure (D) Diabetes
(o) HIV Test (d) Registration of death |

o . . s o 5
The Environmental kuznets Curve {LF}‘E‘.‘J 3
hows the relationship hetween per capiti GDP
4nd environmental lnss. What is the shape ol
Environmenta| Kuznets Curve ?
o) Inverted ‘U* shaped (h) Inveried 'Y shaped
(ch Lnverted "L chaped (d) None of these
Given belmw are two statements, one is labelled as 10,
Aszertion (A) and the ather as Reason (R,
Assertion (A): Sustainable development 15
ympoirtiant for well being of human sociely.
Reason (R} - gustainable developmenl ‘is- a
Lind of development thal meets the necds {EE the
present withoul co mpromising ihe ability of ulure
penerations o mect their own needs.
Calect the comect answer from e codes aiven below
Codes :
(&) Bolh (A) and (R} are true and (R is the

correct explanation of {A)
(b] Both (A) and ( R) are trug but (1) is not the
correct explanation of (A)
(¢l (A)is true, but (R} is false
(d) (A)is false, but (R is true
Which of the following Direct Benelit Scheme | 137
‘DBS) has been recognized by the '‘Guinness Botk-
of Warld Record” as the world's largest [irect I
Benefit Scheme
(a) MGNEREGA
(b) PAIIAL
ic) MNSAFP
(d1 None of thetabowe
38,

With referénce 1o the Wationa! Food Security Act,
which ofthe falluwifig statgmenty/is/are correcl 2
L It willceiverdpio 75 pereent rural and SU percent
urban population.
11. Special foctson nuifitional support [0 wamen
and chikdren.
IIl. Eldest woman of above 18 years age will be
head of household.
Select the correct answer using the codes given
below -
{a) | and II are correct  {(b) [T and I are correct
(c¢h L, 11 and IIT are correct {(d) None of these

5 wyfaifeta

et afan = el (INFHS)
(a) 3¥ tC i B R
(¢} TH. TS =1, wfiarm (d)
qatafia FACH T qafeaulia et o wfa s
= @ ltﬁ & woq HEY aaien Bl 3H erfz‘nfrrﬂa
Tﬁfﬁ;ﬁ T ] IR fpr et W1 FIA 27

) F (hy 3T = W

() 3Fel G, ATHN 7 A 3
(¢) = UE FFR (ly T H #13 AR

(b) TWYHE
wen o1 AT

A12 7 g & For T 1 R (AT
gt 1 T (R) e T 2 | .5
3y fenra ATAE WAL ¥ wegm #d

:Hﬂﬁ;ﬁﬁﬁﬁlﬂm@ﬁnﬁmﬂ%,

o i 1 ST Y ) S e ST
ﬁ;&ﬁmaﬁ:rr:rmﬁaqrcmmtmail
f?m}ﬂm (R e e & T (R) =R (A)H Hal
ST 2

(A)AI (R SHT T & g (R) (A) R TEl
(AT &, U (R) TeAd B

(A} TTeT B, W (R) T B

()

()
(d)

i e TEs g fave & ged =8 UROE T
V=T | TR Y

(@) 0T (MGNREGA)

(h) TEd (PAHAL)

(c) ©d. ©¥H. . b4l (NSAP)

(d) 390 H &/ I3 A

ooty w g sfufam & gef 4, st

weHl A Hiw wE 2R 7

1. 7 75 wferer oo site so afowe wEd
FAEET T FT=STad |

[1. ofEesdi 3 aedl &) 9igy gadt gema 7
fagm eam 4T

. 1sad 3 8 sifas & gud =g wfae wHEn
=7 qigar gt

Fa few qu o2 @ @ wE Iw AT ;

(a) 135 8 (b} I 3T ILHET 2

tc) Luaftmrgd § (d) s & i TE
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With reference to the measures of Tenancy Reform
in India. which of the statements isdure correct ?
|. Regulation of rent

2. Securty of tenure

3. Confirment of ownership on lenants

Select the correct answer using codes given below

{a) I only
(hy 1 and 2 only
(¢3 2and 3 only

(dy 1,2and 3

With reference to the functions af Public Sector
in India. which of the following statements séare
correct 7

[. To provide public unlity resources

[, Tobuild secial and economic overhead capital
11]. Toensure balanced regional and sectoral growth
IV, To pursue egalitarian goals
Select the correcl answer using the codes given
below |
(a) I, I1 and HI are correct
(By T1. NI and [V are correct
(e) L I1, HT and IV are correct

(d)y LI and I'V are correct

[n the Suez ¢anal re gion, the correct arder of lakes
lying from North to South direction is
(@) Lake Timsah — Little Bitter Lake — Great
Bitter Lgke — Lake Manzala
(b) Great Bitter Lake — Liwle Bitter Lake~ Lake
Timsah — Lake &Janzala
(¢} Lake Manzala — Great Bitter Lake = Little
Hitter Lake — Lake Timsah
(d) Lake Manzala —lake Timgah — Greal Bitter
Lake - Little Biter Lake

Telegraphic Plateau is-o part of
(@) North Atlantic Ridge
(b} South Atlantic Ridge

() Indian Ocean Ridge

(d) None of these

LT

30, wnﬁﬁq%aﬂgun%miwﬁ%
B | P

40.

3.

wHeH HRI B[R 7

| w1 A

2. waly # geen

3. TEETl O T ) ey

ﬁ%gﬂﬁ&ﬂpﬁmgﬁq
(a) wad |

() a1 32

(c) s 233

(dy 1.23M03

W F wrE At & & & g o, e
§ & w=-H YT H2 /R 7

1. mvees i anfEe it 4o & A
111, Befer it 8f Sodm fawe ghin
IV, TaaTardl st epl 3 TgH

99 fon 70 & & wé I A
ORBE Lk

(b) I 1Y wé) &

() L1011 i v ot E

() LISV ES &

S TR & 8 T @ o R N

I ST A e

(2) B foeen - P oo o - B PO
o T

(b) ﬂ'ﬂ'ﬁ?{ﬁzﬁ“ﬁaﬁﬁﬁaﬁm-ﬂﬁw
- & oA

() 8 i - e oy s - T R
- o Frem |

(d) B v - o foem - e AT
fafem foren

el Tan fewer 2
(a} I UZENNCH Hed B
(b) lém vemTié® Hew F
(c) T&= oFTOPR %
(d) 390 | w5 T8
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Match List = [ with List = 1l and select the correct |

answer using the codes given below the lists -

List =1
(Ihflerent name

of tropical cyclone)

A Willy-Willies
H. Taifu

C. Baguio

. Hurricanes

Codes :

A B C
fa) 3 4 1
(b) 2 3 4
(c) 1 3 2
dy 2 3 1

L)
2
1
4
4

List — 11
(Country)

1. FPhilippines

J

Australia
Japan
U.5.A.

ol

Which one of the following cities 15 NOT located on
the Trans-Siberian rail route ?

{fa) Kazan
(c) Sochi

(b} Omsk
(dy Chita

Which of the following 1 NOT correcily matched |

(Wind)
(2} Santa Ana
(b)) Haboob
{¢) Yamo
(d) Mistral

Match List — 1aith List —H.and salect the correct

(Country)
California
Sudan
Japan
Australia

answer usipg the codes given helow the lists :

List — |
(Coal Fields)
A, Talchir
B. Karnapura
C. Singnoh
3. Singren
Codes :

-

(a}
(b)
()
(d|

bed
Id = P2

B
1
2
4
]

— 2
)

!_,_;.E

e

List =11
(Located)
|. Damodar Valley
2. Son Valley
3. “Godavari Valley
4. Mahanadi Valley

N.II..-] . ]u

a3 el Vel - 108 R i e e s
g g 8 Al I gAY REETEY

T -1 Hefl -1
(Furrer it = o (Fm)
ferfirs =)

A, fae-Tafers |, forelidiy
B. F 2. smfemn
C. a3l 3. WEE
D. BftH 4, q.um.m,
e :

A B C D
my 3 4 1 2
by 2 3 4 |}
el 1 3 2,4
(dy 2 3 0V 4

14 Fefafes §E S9-w TR TR aEatain e
. mArRem At 7

(a) HIH (by STTOER
() (d) femm
b5, Frefafi 8 Sw-m wll gifem T 7

(o) 3)

(a) ®T=AT 3T Sfermifam

(b) &ed GELE

(c) T YT

(d) g A e

46, Tt - IR - 1& gifem i mn afed & R
-1 T - 11

(TR &) (smafefa)

A, ATETER | erter 1

B. U 2. @ T

C. femie 3, wireradl @1

. féie 4. HEME 91

& -
A B C D

(ay 4 | 2 3

hh 3 2 1 4

) 2 4 3 |

dd 1 3 2 4
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Which ane of the following peaks is NOT located in
Indiwa ?

(a) Giurla Mandhara

(b) Mamcha Barws

(e} Kamet

\d} Nanga Parbat

Vhe winter rains caused by Wester disturbance in Noth

Woestemn Plain of India gradually decreases from
{2) East to Wosg

(b} West 1w East

(€] North 1o South

(4} South o Nor

In which af the followi

cOntains fresh water by
lower par

(a) Barak river

ih) Luni river

(¢} Ghagpear river

(€] None uf the 2bove

g fvers, the Upper course
Lsaline water flowin 2 at the

‘Maribund Delta’
fallowing Delyg 7
) I{ri&h.na—GndaWﬂzri Delig
(b) Mahanad; Delta

{c) Bengal Delyg

(d) Cauvery Dalyy

150 subdivision of which of the

E:"-Flﬂ;i'lﬂlmﬂ Gf{ﬁ} cOmect

1) CANis true, py (RJis falge

D) (ANs false BUt (R} is 1y

Wh, -

I:a]h“:; o th owing i NOT comeey) ¥ marched

(b) D:m CﬂPFEr S0

i S REM‘ﬂnu: Cﬂ-E_IE{‘.‘lEIT

wan Re: pren

(d) Yarit, ﬁ; ;Z”:T lh”’fﬂ' @ provinge

X

-1

47,

48,

49,

ali}

al,

52,

Ffefad 1 A -t vs g9
TH B 7

(a) Tl Hi=aTd]

() SAT7ET =

(¢} T

(d) AT TEq

m%mﬁﬁ?ﬁrﬂmﬁqﬁﬁtﬁﬁﬁwﬁ
() 1&?{111*!?111 E5 Bt

(b) ivem § g ) 31‘1‘{
(c) I | gfiqm &t 3y
(d) =ferr & 397 7 i

Freifaftag 3 fen Tl 7 Fh vl § gy
mﬁﬁaﬁwﬂm&aammﬁmh |
(2) =T T8

(b) =i 4

(c) O3

(d) Hﬂlﬁﬁaﬁﬁaﬁéqﬁf

™ (R): T2 % syfarie <t i el
" T g
%'
(a)

T (AY T e (R ) 2 a8 e O
T (A) T W e ol
(b T (AT S (R) 2] 0o

T (A)F T TR 2
(c} e (A)HEl 3, fig

TR (AT R, foy eyl &
%ﬁ%ﬁﬁﬂmﬂﬁ@%ﬁﬂ% ;
{a) org ﬂmgﬁrﬂ?ﬂ

(b) S T il

(©) A i@ Trarea 1 59
(d) il Ush Weh[l &1 T
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56.

Mateh List — 1 with List — 11 ang ga
. . oy tl ;
answer using the COdes mivay hc]:‘uf*u
List -1

lhe COTEL|

List — 11
AL Mulla Dand l. Chandg

: i ¥an
B. Damodar Kavi 2 Ashiga
C. Som i
o Af}”ilﬂ?é: 3. Padmavai; Katha
ih IMIF Bhusro 4, R; i

- Rag ¥
o g Vibodh

A B C D

(a) 1 3 2 4
(h) 1 3 4 2
c) 2 4 1 3
@) 1 2 3 4

Who among the following kings had given
patronage to Tansen befare Akbar

(a} Raja Ramchandra Singh of Bhata
(b) Rajbahadur of Malwa

(¢) Uday Singh of Mewar

(d) Muzaftar Shah of Gujarat

Match List — T with List — 1 and select the correct
answer from the codes given below the lists

List =1 List = 11
(Ruling Dynasties) (Capitals)

A, Pallava 1: Warangal
B. Pandva 2. Kanchi
C. Yadava 3. Madura
D. Kaktiva 4. Devagin
Codes :

A B C D
(@ 2 1 4 3
(b) 2 3 4 A
(c) |20 3 4
d 2 4 3 1

ate in a chronplogical

. WD A -
Amange the followan g man odes given

order and select the comee! answer from the €
below

I. Rabia Daurani’s. Tomb, Aurangabad
I1. Shershah Suri's Tomb, Sasaram
I1I. Humayun's Tomb, Delhi
[V, Arala Mosque. Jaunpur
Codes :
(a) I II, IV, LI
(cy I, L, 111, IV

(by IV, I1, 1, |
(d) 1L IV, L |

hE

2

23,

30.

N.II = ] = I l-}
. A |;- 1 M
N itfera IR0 e A1 It

= T I ?_Eﬁqi{ :
£ -!-!T:ﬁ L qfﬂ ~ 11

A T ”‘ TR s S IGRE

¢ . qmgﬁfﬂ
D, it W iy T

* A B C D

m 10y 2 4

iy 1 3 4 2

@) 2 4 A 3

) 1 20 &

Prrforfor s i & e Rt & OF AT
=1 G fom 9y 7

(a) W) T T EESAE

(b} HTEE 1 TANEgT

(c) HaTE ¥ wgE fom

(d) TPRT §F1 Agh A8

el - | B - 08 mwfan Sif st g 99
fenme 2 & =& 3w g .

=11

(vt (TraeT)
A. ST l. =
& He 2. i
D. Tty n Eﬁ
e

A B C b
(a) 2 | 4 3
b) 2 3 4
ey | 2 3 4
dy 2 4 3
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helar: sy stem. which of U

57. With reference [0 Aansil

4 1
s [emETis e samett -

| Mansatsdarn gyslen wis by
- the shale, EILIETEL[ by Akbar.
hereditary.
s psing the code

he official aahility of

2 A IL‘!a:'Léial'r;:IJ.ri WS
Sefect the cnsrect Ensy
t‘u:: L

Coiles |
o1 (i Hoth | ynd 2

a1 | only th 1 .
:l:: it’*ﬁtﬁ' idi Meither I nor -
£l = 3 41|

5 givefl

ch List = T wilh List = [ und seiect the correct

58  DMalc A
answer from the codes grvesn bheliow the 11515

List -1 List — 1
A. Treary of Allshabad 1, 1782
. Treaty of Manglore 2, 1784
. Treaty of Salba 3. 1769
D. Treaty of Madras 4, 1765
Cogdes :

A B C D
(w}p 4 2 3 |
by 2 4 3 |
(cy 4 2 [ 13
oy 2 4 1 3

50 Arrange the following events i a chronological
arder and select corect answer foom the codes given
helow

|. Poona Pact
[T, Gindhi-Trvin Agreement
[11. Cripps Mission
IV, Civil Disobedignce Mowement
Codes :
fa) I8 ML I, 1
(hy T, UM J, NN
(c) IV, I, 1 Al
id)y I 1, V. LTI

60.  With reference towhe Coal Administration in 1903, |
which of the statements asfare correct ™ '
I, Lord Curzon decided o rearrange the
provincis! boundaries.
I. A mew province was constituted, called East
Bengnl and Assam.
Seclect the correct answer using the cadas given

below ¢
(a) | anly (b Both | amd 2
lc) Zonly (d) Meither | por?

-11.

57.

58.

(00,

eer i Eat =2 Ll e d, #A-T T AT

| ) e T & Fl T 8
#!,Fﬁﬂmﬁmﬁm.l
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% fon o et @ w IR
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(c{:l e 2 (@) A a1
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Fil - | w1l

A ZTAEERE B Hiu | 782
[, EIE @l A o TR
. WTeTAT 1 i 30769
r, HzrE 1wy 4 1765
%’E

A4 BAC D
(1) 4 2 \A3 ]
() 28\~ ¥ I
) dNZ -1 3
(2 4 13

Biaffam Tomsit @ s A e
I T S

1. it -3fda s

1. fore fawm

ehi :

(a) Iv, I, I, 1

(by I, IV, I Il

(ch IV, I, I, IH

o)y 1L, 1 IV, 11

!
i e 1905 o i, ﬂ"‘*“ﬂiig

| o w3 i <t 1 T

et firan e
2, ey e st e o T
(a) e | 1,h}laﬂ11ffﬁ 1
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Who prepared “C g |

fra T I_h L3}
political deadlock b_tlw;';fHUIu l
Indian Nationa] Congress 9 &

(a) Jawaharlal Nehgy
(b} Rajgopalachar
(¢} Chittaranjan Dag
(d) V. P. Menon

0 remove (he
Muslim League and

‘The Rize and Growth o Economic N

[ndia" was written by atonalism in

(a} Partha Sarthi Gupta () 5, Gopal

(c) B.R. Nanda (d) Bipin Chandra

[n which of the following
protection and improvement of environment and
safeguarding of forests and wildlife' are found in
the Constitutinn of India 7

(a} Only in the Directive Principles of State Pol Iy
(b} Only in the Fundarmental Dulies

(¢} Both {a) and (b)

{d} Mong of the above

With reference to Panchayats which of the

statements 1s/are cormect 7

1. Fifty percent seats shall be reserved for the
women of SC/ST categones.

2. Gram Sabha is a body consisting of all persons
liwing in the village.

3. There will be a Panchayat at intermediate
level.

Select the correct answer using the codes given

below :

Codes :

(g} | only

(¢} Hoth I and 2

(b) Zand 3
(d} 3 only

Mazdoor Kisan Shakfi SafiEathan (MKSS)-aSocial
Movement hassbeen nssociated with which of the
following in’India ?

[2) RTE Act

(b) RTI Act

el MGNREGA

(d) National Health Mission (NHM)

National Soeial Assistance Prog
include the following scheme for
Line” households

{a} National Family Benefi! Scheme

b} Annapuma |
'c}) Mahila Kisan Sashaktikaran Paniyojna
'd) All of the above

‘Below Poverty

-13-

Hgl B |
the provisions for the |

ramme dogs not

61,

2.

3.

4.

NJL-
- =
' AL Eﬁ"lﬁiﬂm bt
L R T o e
q:nimﬁm?ra-rmu w7
(a) AETRIEATE
(I Tﬁ‘ﬁ‘ﬂ'ﬂmTﬁ
() Fermi 2
(dy dt. . HEE|
iferan ¥
f qres WS AT mﬁiﬁﬁ:ﬂfﬁmw
sfezar & TEF 3 g
(a) el @t T (L) . Trrmﬁ
() @, 3 T (d) fafos <=
5 s TETE

*h:r;:frﬁ = .
(a) e TF % A Ry el o
(b mngqﬁm‘*i A
(c) (m) AR m}ﬂ'ﬁ, _

(d) TREA A AR

e & weld frer & F-w e Tl /2 7
2, 7w o fiwr @ Fmd a6 e we)
B E |

4. HemE T T U YR E

A1 120 0 2 A e g WA I g .
T
() FEw |

(c) 1Tem 2 2

by 28w 3
id) HEE 3

1 HTE (MKSS) T armf
ST, ¥ P & o i “%“T?ﬁ

() T (MGNREG Al
(d) T Trey figg (NHM,
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(3.

iy,

WT'[}' l"flﬂgﬂ'fﬁ"lj "E{..:E Formula™ to remove the
ﬁud;;::cﬂmtiziﬁl%{angli:; Tn i League and
(a) Jawaharlal Nehru

(b) Rajgopalachari

(c) Chittaranjan Das

(d) V.P.Menon

“The Rise and Growth of Economic Nationalism in |
India” was written by

{a) Partha Sarthi Gupla (b) 5. Gopal
(c) B.R. Nanda (d) Bipin Chandra

In which of the following ‘the provisions for the
protection and improvement of environment and
saleguarding of forests and wildlife” are found in
the Constitution of India 7

(a) Only in the Directive Principles of State Policy

(B) Only in the Fundamental Duties

(c) Both (a) and (b)

(d) None of the above

With reference to Panchavats which of the

statements 1s/are correct 7

|. Fifty percent seats shall be reserved for the |
women of SC/ST categories.

2. Gram Sabha 15 a body consisting of all persons
living in the village.

3. There will be a Panchayar at intermediate
level.

ﬁclle-ct the correct answer using the codes given

elow

Codes :
(a) 1 only (b) 2and3
(c) Both 1 and 2 (dy 3 only

Muzdoor Kisan Shakil Sangathan (MKSS), a Social
Movement has been associated with which of the
following in Lndia ?

{a) RTE Act

(b} RTI Act

() MGNREGA

(d) National Health Mission (NHM)

National Social Assistance Programme does not
include the following scheme for '‘Below Poverty

Line" households

(2) National Family Benefit Scheme

(b} Annapurna

() Mahila Kisan Sashaktikaran Pariyojna
(d) All of the above

NJL-1-19

6. FfEam = m arhe v we & b
waHifeeR TRy W g1 wA  fam - e am
wigar fires s oy
() FATEAEATE AEE
(b) TrTTETE
(c) Fawt== g™
(d) =t i, =

62. 2 Trsa g Uy AT g Anfem @
gfizar & Si@s o
faaﬂﬁfmﬂ_ﬂm
(c) &, 3, 72

(b} TH. TUTA
(d) i ==

63, Ta=fufias 4 8 wa < gRuE 3 e gafam
HUEW UG Hat 7Y 94 | e SEg 1 T #
UIEYT 98 A1 # 7
(a) SaEe T2 & T B a0 A
(b) Haer I Hosyl o
(e) (a)3M (bysH
(d) IT0%E O 8 w8 3

64. VI % el U e H O - e w28
1. 9™ whowa #e g =) st
w1 -ste i wfgenat % fou i g
w Ed |
1. el S T U 99 B
ﬁ%ﬁqm@mﬂﬁ'ﬂ?ﬂ?ﬁﬁﬁﬁﬁﬁﬁﬁ

FE :
(a) Hae | (b) 2@41 3
(c) Laur 2gM (d) %A 3

65. W [ohET TfET T1Ed (MKSS) T0% FTmThe
arered, aia § frm | frod defum 2 7
(ay IAZ wfafam
(b) A .amE. srfufm
(c) WFEM (MGNREGA)
(dy T = i (NHM)

66. T T wEmm wdwn § e T 3
4 % fom s sdwy aimfae A 2
(a) U THIT T FEES
(b) =g
(c) =ften fsama awiFmmm aieemn
(d) I Tl
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70,

71.

72

Who said “India is a Quasi-Federal State” 7
(a) Lord Bryce (b) Ivor Janmigs
(c) H.J Laski (d) K. C. Wheare

Arrange the following events in 2 chronological
order and select the comect answer from the codes
given below : ‘
I. Muharaja Han Sirgh signed the Instrument of
ALcession,
[1. Constiturion of India was enforced.
ITL, Accession to India ratified by the Sovereign
Constituent Assembly of Jammu and Kashmir,
IV, New Constitution of the State of Jammu and
Kashmir came into force.
Codes :
@y LLIIL IV, I
{c) L IL I, IV

(by 101, IV, 1, 11
(d) IV, I, 10,1

Given below are two statements, one is labelled as

Assertion {A) and the other as Reason (R),

Assertion (A) : The Supreme Court of India has

exclusive jurisdiction regarding Constitutional

validity of Central laws,

Reason (R) : The Supreme Court is the Guardian

of the Indian Constitution.

Seleet the correct answer from the codes given

below -

Codes :

{(a) Both (A)and (R) are true and (B) is the
correct explanation of {A)

(b} Both (A) and (R} are true but (R) is nol the
correct explanation of (A)

(c) (A)is true, but (R) is false

(d} (A)is false, but (R) is true

National Panchayat Raj Day in India is celebruag on
(a) 26 January B 2-Qctober
(c) 21 April () 24 April

Which of the following Article
the 420 Constitution Amendme
participation of workers in mana
(a) Article 38
(c) Article 45

WS Inserted by
ot 0 provide for
E€ment 7

(b)) Anticle 394

(d) Article'd3A

What is the legal nature of
Constitution ?

{a) Itis enforceable

{b) It is not enforceah|e
(c) It may be enforceg
(d) None of the aboye

the Preamb]e of the

N Special cirey mitances

-14-

B8,

6o

Tl.

72,

LT T

T T, T U 37 - T R g

w wEwem (b e A
I{L,jl v . S lt=a (d) & 1, sl
ﬁﬂﬂmaﬁ'ﬂﬂ'mﬂﬁﬂﬁaﬂﬂﬁ?ﬂﬁﬁmw

ﬁﬁqyﬁﬁﬂﬂﬁmﬁﬁu:
[,Wllﬁlﬁﬁ%ﬁﬁlﬁﬂﬁm%ﬁﬂﬂﬁh
[1, Wiee &1 wfae @ e |

[11, S —agety ) WETTHE AR g,
Et%ﬁmr +1 wgrifen T |

[V, T T e T T HEE @
LT

(a) L I, IV, H
(e) I, 11 111 IV

= 41w fon o E ARG T WA (A) T

AL %) FA (R)FRLITT R |

HUA (A) L w1 AIRYTEE A9 & T

T AN o e ey 1 s s ¢

WU (R) - TEF IR RAE O 3 T

E T

(@) [AYT(R)SHT @l 8 7Y (R) 9= (A) S
HE| ST 8

(b) (A)YT(R) ST Wt & g (R) e (A) &
Hal =T T B

fe) (A)EE B, Ry (R) e 2

(d) (A) 7o &, g (R) ot 2

ﬂmﬁu@awa#mﬁwm:ﬂm%
(a) 26T =) (b) 2 I
(c) 21 374s =t (d) zamﬁag

(by WL IV, I I
(d} \IVAILLILL T
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which of the following is corect about the headin g
of the Article 162 of the Constitution of Indig 9

(a) Executive Power of State
(hy Conditions of Goverpor's Office
(cy Term of the Office of Goverpor

(d) Extension of Executive Power of Stare

Which of the following temples
Khajuraho of Vidarbha 7

i5 also known as

(a) Markandeshwar (h) Kailash

(] Manudevi (d) Bhimashankar

Match List - T with List - IT and select the correct
answer using the codes given below the lists -

List -1 List =TT
( Typhoon/ (Most
Hurricane Augusi- affected country)
September 2019)
A. Dorian l. Bahamas
B. Hagilis 2. Ching
C. Lekima 3. Jeju, South Korea
D. Mitag 4, Japan
Codes :
A B C D
@ 1 2 4 3
by 1 4 2 3
ey 4 2 3 1
d 3 4 2 |

In October, 2019 India announced to establish a
High Commission inwhich African country ?

(2] Benin

(b} Gambia

(c) Guinia

(d) Siermaleone

According 1o NIT] Agyog which of the following states
is al the top in the India Innovation Index 2019
(&) Tamil Nadu (b) Maharashird

() Haryana (d) Karnataka

T3,

7d,

13

6.

Y,

N‘IIIJ'I - l'}

WA 5RUE F 30T 162 9% i & iy
de i aR-mad o

(a) T =t wrdaifer wfEn

(b) T=UTTE & waieE o

(c) U=ITE 1 gErEiy

() T=a i s nida w e

frofefen @ & R oft = faed & waom &

wAEftImam g 7

(2) SIERVETET (b) e

OREC] (d) T

ot - 1= e - 1% Y g fif sl

gfi & = fou 7 52 o v I 9w
Tt - | e - 11

(T ETER (et waTiEr &)

v~ Freay 2019)

A. BTN l. =ETE

B. #fefm 2, ¥

D. e 4, TH

e
A B C D

a3y I 2 4 3

by | 4 2 3

c} 4 2 3 1

d) 3 4 2 |

FagEt, 2019 A 3 fem snfrht m A o
F=EEM #G F g 2

(a) A

(b) Tife

{ﬂ'}Tﬁﬁ'ﬂ]

(dy T st

A1 ™ & IER, W § T gEw 2010
i Fr=fifan 4 & w9-m v wide g 7

(a) AMEETS (b) HEATE
(c) ®famm (d) Tes
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174

Which of the following

'S correct ghyy
of the Article 162

[ the headipp
of the E‘nna:ituzinn )

of Indig 2
(a) Executive Power gf State

(b) Conditions of Governgr's Office
() Term of the Office nf Governor

(d) Extension of Executivea Power of Sape

Which of the fo Howing emples is algy known gs
Khajuraho of Vidarkhg 2 |

(@) Markandeshwar () Kailash

(c) Manudevi (d) Bhimashan kar

List -1

List = 11

(Typhoon/ (Mast
Hurricane August- affected country)
September 2019)
A. Darian l. Bahamas
B. Hagibis 2, China
C. Lzkima 3. Jeju, South Karea
D. Mitag 4. Japan
Codes ;

A B C D
@) 1 2 4 3 !
M) 1 4 2 3 |
c) 4 2 3 |
(d) 3 4 2 |

In October, 2019 India announced to establish a

High Cormmission in which African country !
(2} Benin

(b} Gambia

£} Guiniag

(d) SierraLeone

According 1o NITT Aayog which of the following states
I5 at the top in the India Innovation Index 20197

(3) Tamjl MNadu (b) Maharashtra

¢} Haryang (d) Karnataka

15-

N.nl I-'"I - ]!}

71, WW#W|ﬁz%m%ﬁu

4,

LREERE: el bl

(a) U= HI FrRe i

(b) TTE & wrTer % fird ord
(c) T=aaTe = qemEiy

(d) T FREER T e

ﬁﬁmﬁﬁ%ﬂﬁﬁ.’lﬁ%ﬁﬁm‘gﬁﬁ#

=1 = oft 7 = oy

(a) TTERURTET (b} ham

(c) T (d) fromme

75, FH - I H T - 1% W gifm B i

et -1 Tt -1

(T /g e (eratfire snfam 3m

e <fvre 2019

A. =R |. @EmEm

B. #fmfim 2. =i

O wfem 3. i, i =i

D. fem 4. H9

%e:
A B C D

@ 1 2 4 13

by 1 4 2 13

) 4 2 3 |

d) 3 4 2 |

16,

7.

W, 20197 WA I Frm ande Em S s
T TifYE e ) H 6

(&) AT

{b) i

(c) i

(dy foom fazm

%W%m@ﬁ,wﬁ?-m@mﬁznw
ﬂﬁﬂrﬁiﬁaﬁﬁﬂq-ﬂwmaﬂﬁw% 7

(a) Aftremg (b) TR
(¢) Efmo (d) FATT=
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78,

79,

81,

8.

: T 210190 book s
Uhe author of the Booker Prize Winner 20
"Gl Women, Other” is

(a) Margaret Atwood (h) Elif Shafak

(€} Salman Rushdic (d) Bemadine Evaristo

Whom did PV, Sindhu beat to win 1I1-r:vl’rr';~;.i
“ver Gold Medal for India in Women's Single

A atnh 9
Badminton Championship in the final match <
() Carolina Marin (b) 'Tai Tzu Ying

(¢) Nozomi Okuhara (d) None of these

Which hydropower plant in Bhutan was inavpurated
recently by Indian Prime Minister Narendra Modi 2

(2} Chhukha Power Plant )

(B) Dagachhu Power p| ant
(¢} Kurichha Power Plant

(d) Mangdechhy Fower Plant

The book Venushilpa' by Chitracharya Upendra
Maharathi relates 1p which of the followin E form of
ars

(@) Jewellery

th) Painting
(¢) Bambon art

(d) Marble Carving
Which among the followi, £ wasthe fi
CIEanic state in the world »

(@) Queensland (Australia)

(b} California (United States of Am
() Sikkim (India)

(d) Quebec (Canada)

€rica)

5t 100 percent, |

(c) Shot put tﬂ]'

United Nations ()
held at which of
{a) Parisg
(€} Doha

19,

80.

&2,

81,

B,

mﬁumﬁﬁﬁqﬁﬁﬁmﬂm@ﬁl{m%
e faega ot ﬂ_»-ﬁﬁmmﬂﬂ’r?
(@) T T Wi

(h) Wﬁgﬁqﬁ!ﬂ?ﬂl

(d) TPTeTy farger iy

S mwﬁw%wm
Mﬁmﬁﬁﬁmm%%?

{#) ST (by =

(c) =TH = (d) T & gy

ﬁnmﬁﬁaéﬁmnﬁﬁ fr z*mmffﬁﬁ“ﬁfr
O T S R 4, oy e !
(a) &=fife (b) femmm @

(d) WRIdEE

-

MALEEREIS & - o7 ——
{ﬂ}&ﬁﬂ (b) ﬁlﬁm
(©) < (@) =gt
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89,

Use of polished rice in human dieg i

ing di ses the
following disease the

(a) Beriben
(c) Night blindness

(b) Goitre
(d) Colour hy; Nndnecss

Wwhich of the followi

matched ? "B paits is NOT torrectly
B '[\".itaiﬂ'lﬁiﬂ} (Rich S““n_,e}
(a) Vitamin B, Rice bran

(o) Vitamin B,
(¢) Vitamin E
(d) Vitamin K

Cod-liver pil
Wheat germ il
Alfalta

Given Ibﬂ]ﬂ'ﬁ'ﬂ' are I"-?I-'-EII statements, one labelled as

Assertion (A) and the other as Reason (R},

Assertion (A) : Most of the vitamins are not

synthesised in human body, |

Reason (R) : Human organs synthesise only

essential micronutrients.

Select the correct answer from the codes given

below :

Codes :

(a) Both (A)and (R) are true and (R} ig the
correct explanation of (A)

(b) Both (A)and (R) are true but (R) is not the
correct explanation of (A)

(c) (A)is true, but (R) is false

(d) (A)is false, but (R} is true

Match List — [ with List — Il and select the correct |

answer from the codes given below the lists :

List -1 List - 1I
A. Kevlar 1. Explosive
B. Taxol 2. Synthetic fikre

C. Zinc Phosphide
D. Nitrocelluloss

3. Anficancerdnug
4. Rodenticide

A sample of any of the following substances
disappears afier sometime when exposed to air like
camphar, naphthalene or dry ice. This phenomenan
's called

(@) Sublimation

(¢) Diffusion

(b} Evaporation
(d) Radiation

85.

86,

87.

B8,

B,
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ora e o i M@W#Wﬂﬁ

(a) Wi (by @

(c) il (d) v

Foaferfian 3 & 2F-m gm wf gifm 82 -
(Fererfirm) (e o)

(a) Teeiem B, U 1 9 (7 3A)

(b) fafi B, FiE -5 Aw

(c) foeTfm E T e fe

(d) F=IE K U]

A @ v fon o 2 o um @ wm (A) T

AL W WO (R ) FE THy &)

U (A)  FvEm iyt o win 8 avafe

Tl foew = £ )

w0 (R) : AFE 3 wue AiEr g g

& Tre = £

Tz :

(a) (A)TH(RIZFT 98 & 3 (R )+ (A)H w8
ST B

T = AE g
(e} (A)=at B, Feeg (R) Tem R
(@) (&) B B Ry EE B
e - 1T - 119 g8l hif v qiedi % 9N
few o w2 ¥ wE I g .

o -1 T - 11
A, HEEIT |. [avsEs
g 2. s o
C. Fom wrereE 3, Frme) =
D. T 4, TrgveT
2.

A B COD
) 2 4 3 1
b 2 3 4 |
{c}) 4 3 1 2
@ 3 1 2 4
fiofafan 4 3 fomdt g & o = 2 8 @en
TE T T WA T AT E AW f 9wy,
At 3R o 95 | 30 it w8
(a) Fere (b) AT
(c) oo (d) Fafsm



90,

91.

91

Q4.

D35

The phenomenon used in optical fibre for
transmussion of light energy is

ta) Total internal reflection

(b} Diffraction

{c) Scattering

(d) Refraction

Which of the following statements about
EnZymes is/are correct 7
L. They are biocatalysts.
2. They perform their action on the sile where
they are produced.
Select the correct answer from the codes given

below :

Codes ;

(a) Iﬂ-l‘]i:f' {h} :,m]:r'

(c) Both | and 2 {d) Ncither I nor 2

Muother™s milk provides almost complete diet to the
new-born, but it lacks the following

(b) Calcium
() Potassium

{a) lron

(<) Magnesium
Arrange the following substances in chronological
order of their first syathesis in lab :

1. Black gold

2. Fullerene
2

Select correct answer from the codes given balow';

Codes :

(a1 2 3 4
(b) 4 2 3 |
c) 2 4 5 ]
(d)y 4 1 NN

Bibliometry.is

(@) Function of Library Netwaork

(b} Information Management Service
(¢) Information Management Tool

(d) Library Service

Which one of the following is associated with
‘Albedo” 7

(a) Transmifting power

(b} Absormng power

{4:} Emissive pOwer

(d} Reflecting power

LR

90, e Al o it Tt 1§ HEm Bk o

o IwAm g o e 8
fa) ol araftR wEdA
REEGE!
(¢) WA
(d) FTERA
91, u=AEHl % wed § frefafad w8 ey
a2/ 7
I & e Teus #
2 & win A o s o FI wE wn E oy
Feqfed B & |
F faw 7m 2 @ WA IF T
Eﬁau (b) F=E 2
(c) 13 2gMi (d) T 13T A 2
92, i < g TS S ETHT T ER TEH A 2, g
gait Peffias & anma @
(a) & (h) hivIram
(c) Bt (d) UrefirEm
03, Ffafiag geed =t 306 ge=ft = wgemen §
HYAT & HTCTRHTHT =aaredm Hifag
|, =i Tive
z,ﬁﬂ'—r
3.
4. =hee
fi= fow w1 g2 4 | W I gfe
: T4
@1 2 3 4
(b)y 4 2 3 |
) 2 4 3
(dy4 1 2 3
94, TEeieEmEd &
(a) THIHIeY 4eg% &1 =
(b) HEAT WEET e
(c) =T WaYq I
(d) T=IETEY w2y
9. Freafofn & 4 wha-m wdier & wafn § 7

(a) TN wfEq

(b) =TT wfey
(c) Feada wifas
(d) =9t i oiggm
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g, Withreference to the Deep Carbon Observatory (DCO)

97.

98,

99.

which of the following statements isfare correct 7

1. It is Gl{.—.hﬂ.l Rﬂﬁ.ﬂlrﬂh Ffﬂ.gramme_ to outreach
role of earbon on earth.

2. Tt conducts field observations of deep
microbial ecosystem.

Select the correct answer using the codes given
below :

Codes :
(a) lonly
(c) Both | and 2

(b) 2only
(d) Neither | nor 2

Which of the following is NOT correctly matched ?
(a) Cartagena Protocol Biosafety

(b) Stockholm Convention Persistent

organic pollutant
Qzone layer

Sawve water

(c) Montreal Protocol
(d) Kyoto Protocol |

Given below are two statements, one i§ labelled as
Assertion {A) and the other as Reason (R).
Assertion (A) @ Maximum number of the species
of butterflies are found in tropical countries.
Reason (R) : Butterflies can not tolerate low
temperatures.

Select the correct answer using the codes given
below :

Codes :

(a) Both (A) and (R) are true and (R) is the comret
explanation of (A)

(b} Both (A) and (R) are true but (R) is nat.the
correct explanation of (A)

(e} (A) is true but (R)is-false
(d) (A) isfalse but (R).15 true

The amount of energy during transfer from one |

tropic level Lo another in an ccosystem
(@) Increases

(B) Decreases

(€) Remains constant

(d) May increase or decrease

Which of the following is associated with biological
nitrogen fixation ?
(2) Red algae

e} Green algae

(b) Brown algae
(d) Blue-green algae

40

{

6.

97.

D8,

. 99.

NJL-1-19
welt e avemen (ELH.30.) & Hay | e
o A @ Bi-E wd RJE 7
|, ug afFas IHEuH FEE gefl w s 6
1@maﬁ3ﬂ'ﬁfﬂaﬁ#ﬁ‘ﬂ%l
0. 7E Tedl urgmifEm witfefeft @ & el
araaRT & form R

T
(a) Fad | (b) =Has 2
(c) |3 22 (d) Adr 13 AE 2

Er=fafiga 8 9 HH- mﬂﬂﬁﬁ%ﬁﬂﬁ%?
(a) TS TR A THE

(b) FETREE HETH At Hfe wgEh
(c) ATE1ge U AR T

(d) FIE FitwHta el T

fr 21 e 2 # e T w wRE (A) T

ZHL ] IO (R)FE TR |

Haifirs g § ad S g |

T (R) - Tafert m aoue 8 =& 18 w2 |

P !

(a) (A)TET (R)ZHT He § T4 (R) FU (A) I
e = B

(b) (A)TYT (R)SHI Wel & W (R) & (A) Hl
i e e
(A)FE & Foh (R) 7T

(d) (A)Tea & g (R) &elt 2

TRt &9 & T Wt T A gEt i wm o
TUTAT=AT0 © Al i FHT

(2) wgat 2

(b) Hee B

(c) fRm et 2

(d) §E THdl & T AL THal B



NJL-1-19

101.

102,

103.

104.

105.

106.

Smog is essentially caused by the atmospheric |
présence of

(a) Oxygen and ozone

(b) Ozone and nitrogen

(¢} Oxygen and nitrogen

(d) Oxide of nitrogen and sulphur

The *Global - 500" Award is given for rare
achievement in which of the following fields ?

() Gene preservation

(b) Environment conservation

(c) Population control

(d) Pollution control

Black-hole is

(a) a Right recorder in aeroplane
(b) & spot on the sup

(c) a place in Antarctica

(d) acollapsed star

The most biodiversity rich area in Indij i
(a) Gangctic plain
(c) Western Ghats

(b) Trans Himalayas
(d) Central India

}‘v’]'lj_ch Of the following is a Nodal Institution fér
implementation of Sustainable DevelopmentGaoals™
in India 7

(a) Planning Commission

(b) Disinvestment Commission

(¢) NITI Aayog

(d) Finance Cemmission

Arrange the follawing Commitees formed for smmall
scale sector in 4 chrenological order and select lhé
correct answey from the codes given helow

. Nayak Committes
II. Abid Hussain Committee
HI. 8.5. Kohli Committee
IV. Karve Committee
Codes ;
(a) LIL TV, III
(c) IV, IO, 1. I

(b) IO, 10, 1, 1v

-20-

101.

102,

1003,

104,

105,

106.

I gy

Y3 () swrErras w9 @ arguea 0 frefafy,
Ft 3ufeafy & wro g R

(a) Tedte= Ten =6

(b) 3N aun FggteE

(C) FTHHTA A%l AI5¢144

(d) ATEEIS TUT TEhT h HTFGS

iciEn &= 10§ e e It § Ry
AfFrw - 500 R fomm am & 7

(a) S Oieoy

(by Tafarn g

(c) e g

(d) wgmor e -

v -faan 2l B

(a) BETSIE\F IZF H AheET
(b) I T, U Yo

(c) ¥zl 61w Fg

(d) fome o oEm

(a) 71 o1 Hem (b) grE femamem
(c} ufradt (d) 957 g

erferfE o B #i-g1 v | e e
%W%Wﬁmﬁﬁ ?

(a) TISAT 3T

(b) faivets ammm

(c) T i

(d) =9 smay

R R LR £l SN S G —
wwwmﬁwﬁhﬁm
IIL. ©H. wH, =Ee afify

V. 4 afify
E T

(a) I II IV, I1I
(€} IV, IL L 11

(b IIL 10, 1, v
(d) LI, I, v



I

Match I_.jE.‘t 1 with L]SE-—H and select the correct |
© gnswer using the codes given below the lists -

0 List-1 List — 11
i-‘-"f‘“ﬂﬁmm""} (Launch Year)

A ['-ratmnmlfmgrdmmc l. 1975

" for Control of Blindness

B. Imen:‘at&ﬁ Child UE%’t]ﬂpmgm 2. 1976
Lcheme

g H’atllz]ﬂdrl L‘EPI’UE}' 3 2005
Eradication Programme

D, MNational Rural Health Mission 4. 1983

Codes i
A B C D

(a) 1 T3 4

b2 4 1 3

c) 2 | 4 3

)4 3 2 1

108,

109,

D

110,

'I‘IIIII|||ﬂ|||||||I.||'iII|

Given below are two stalements, one is labelled as
Assertion (A) and the other as Reason (R),
Assertion (A) : The labour force participation rate
felling sharply in the recent years for females in
India.
Reason (R) :

income and increase in education.,

Select the correct answer from codes given below @ |

Codes :

(2) Both (A) and (R} are true and (R} is the
correct explanation of {A]

(b} Both (A) and (R) are true but (R} is not the
comect explanation of [(A)

() (A)is truc, but (R) is false

(dy (A) s false, but (R) is true

The Dependency Rativ in India is declidag |

because

(a) Population of 0614 years.is refatively high

(b) Pepulation of 60 years and above is relatively
hizh

(c} Population of |5-59 years is rclatively high

(d) Population of 0-14 years and 60 years and
above ogether are relatively high

Whichof the following Sustainable Development Gioal
(SDG) will target 1o water availability for all and its
Permanent management upto 2030 in India ?

(2) 8DG -4

(b) 5DG -7

lc) SDG-§

) SDG-9

The decline 1n labour force 1
participation rafe 15 due to the improved family |

1 (8.

1 0.

110,

NJL-1-19
el - 1 A - 10 ghlem R ot gfm %
T - G|
() (9w o)

A st Frim ¥ T w1975

p. mefam A fem 2. 1976
O T s T i 3, 2005
D, Ty e FETeE fiee 4, 1983
e :

A B C D
(a) | 2 3 4
(by 2 4 | @3
@2 1 4 3
da 3 2 |1

Fig &1 7 fer e € fgll & o &R () T
gt ) F01 (R) FE R

T (A) m%aﬁﬁmﬁwﬁmﬂ%m
Hﬂ#ﬁﬁﬁﬁrﬁﬁﬂﬁﬁﬁﬁtﬁﬁmg
#T0T (R) : M 99 ¥ gui @ ’iﬁ
ﬁﬂmﬁmm#ﬁrwﬁmﬂmnﬁmw 3
i fer A2 8 @ HE I w1 ww A

LR _

ia) ((A)TH] (R) 31 =1 # 1@ (R)FUA (A
HE e 2

(b (A) 7= (R)EAT @@l & T (R) FUA (A)
gE FE FE 2

(©) (A)FE 2, T (R)TEE B

(d) (A)TE B, T (R)EE B

wiH # fdTEr 3H9E (Dependency Ratio) 92 T&T

(a) 0-1499 HF FT0=0 FHaT [T 2

(b) 60Td 3% At <t SEE T WS §

(c} 15-5999 $ SaEm grieaa e 2

(d) 0-1499 3 60 7 vl <t F=Em
wEAE Fiuw 2

Pt @ & =9-m woq fam @8 (SDG)
uTE H 2030 9% @i % T g & 3o
I Todk vl yEya i w7

(a) T -6

(b) T 2t sh_7

(c) T S -8

(d) w0



mpﬂunc!f;d the concept of ‘Limit to

fp;}zSCD 0
drland (Commission

of persons who remained unemployed

umber :
Theo- art of the year is called |

112 oy a majorp
(a) Usual status unemployment
(b) Daily status unemployment
(c) Weekly status unemployment
(d) None of the above

113.  Withreference to the Corporate Social Responsibility
{CER), which of the statements isfare correct 7

L Eg‘mpani s Act 2014, introduces mandatory
R.

L. Companies covered under this will have to
spend atleast one percent of their annual
net-profit in the activities under CSR.

-E-:.llsua. the correct answer using the codes given
CLOW

(@) 1Only {b) 2 Only

(¢} Both | and 2 (d} Neither 1 nor 2

Ha. Physical Quality of Life [nd LI) iz
developed by ’ v
(a) Morris D. Marris (b} UNDP
(¢} Mehbub-ul-Hag  (d) Nope of the abave

[15. Whatis the India’s rank in t :
(GHI) in 2017 7 1 the Global Hunger Inder

(a) 100t (b) 101t
() 104t (d) 105"
116.  Match List - [ with List =]
! et o '
ans T'r n.mrltg the codes giwnﬂglzﬂﬂﬂ:ﬁigﬂnml
ISt - ' o
a . L- & |
Efﬂgﬂﬂmn Type) fﬁi;m:.';
& Eiqb?::: l. Califoryis
BERE Ay 2 MEdifETPﬁncan
Sea Coastg |
C. Chaparral 3 Etgi.nn
D. Matorn! A (Ejm:tth Afriga
Codes : +-hile
A B
(a) 2 3 {l: E
b) @ 3 1 I .
€ 3 4 1 ,
d) 4 2 4 1

- ¥

112.

113.

114.

115.

L16,

Iy,

o Wf@m Feufa Ao
(d) Iitea 4 & &g el

HYie s Iy (CSR) & Hey i
fedass-ma=mad 2/8 7
| FHE UE 2014 3 HivE . 3w, # 3hEE

feam

2 MaﬁﬂﬁaﬁaﬁﬁaﬂﬁﬁfﬁMW@g
I B WY 9,0, 3. TR & e
Exeil: il

(a) /o | _ (b) hae 2

(¢) | T 2EHT (d) 9 1372

SiE N fEE e e (L
fobteh g Faresfir foray wrar 2 e

() WifE 4. W () g

©) HEE-IT-8F  (d) 3w F @ w1
el qahre6 (S, we, ang. ) 2017
(a) 100=f @

1 (b) 101 &

(&) 104 91 I:Li} ].GSE?

ﬁmﬁﬁiﬁﬁamgﬁﬁ
— w1
A %%

: L. i
B. Tt - |
= 3. cfamft snfe
D. ¥ 4. faeh
E ot

A B rC
a) 2 3 E E
() 4 3 2
£y 3 4 1 >
d 4 2 3
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17 Match List — I with List I ang select if NJL-1 =19
answer using the codes given belgy, 1In:: ]'::"”“'-1 117, ot 1aegE - 1y wpfem $abm sen e 3 47 fan
:éilu:tfr}r} L—Eﬂ - I e ihm ——
(Capital) et -1 qHt - 11
A. Uzbekistan . Tashkent (5 (oawh)
B. Tajikistan 4. Dushanbe : A, FaatfEeme | AT
C. Kyrgyzstan 3. Bishkek B. o 2. T
D. Turkmenistan 4, Ashpabar . ffems 1 fark=
Codes : D. gdmfrEmE 4, T
A B C D T :
(a) 1 2 3 4 e
v 1 2 4 3 @ I 2.3 4
| ) 1 2 4 3
€ 1 3 4 2 ) I' 3 4 2
1 & 3 @ 1 4 2 3

118. Match List = I with List — I and select the correct |18 ﬁﬁ—Iﬂﬂﬁ-Hﬁﬁﬂ%ﬂmﬂ gt e

answer using the codes given below the lists : Tﬁﬁ%ﬁﬁﬁmgﬁﬁ :

List — I List - II At - At - 11

(Natural Vegetation)  (Region) (SITRFAR FE) (Ar)
A. Epiphytes 1. Mediterranean A wfiEt = | ST
B. Acacia 2. Equatonal B. 999 2. e
C. Baobab 3. Sahara C. &siEE 3. HEW
D. Cedars 4, Savanna L D, TR 4. {1
| E L

Codes : B e oD

A Bk * a) 2 3 4 1
e AR ® 2 3 1 4
Mz = 4 N ¢y 2 4 3 1
c) 2_4 3 iz 4 1 3
() 2 4\ 143

. L N—
NOT correctly matched 119, Faefefaa d & wE-a 48 ﬁﬁﬁ“"ﬂ TEi ¢

119, Which of the following is ! (FTAT) (EUTH)
o bﬂﬂ]l‘l ) mﬁﬂ
(a) Pygmy ChBEY d (b) 30T RS
lan AT
(b) Angami Nagals (c) 1}@ |
i) s Japar (@ ffa e
Sudan

(d) Khirghiz 5



NJL-1-19
one I3 |abelled as

: . : oy wiale ments, .
[20.  Given below are two SI3IE ason (R).

Assertion (A) and the other as Re
Assertion (A) : In:r:Hu:n.ﬁn':::an. h}lﬁ
Military bases of many big powels.
Reasm; (R) : There 1s strong ge__n—ﬂp.r.:r!:t: .
benefits in Indian Ocean and adjacent i'cm o
Select the correct answer from the codes gIVET below :

become the

cal
[rics.

Codes ; _ .

{a) Bath {A)and (R)are true and ()18 the correc
explanation of {A) | B

(b) Both{A)and (R) are lrue, but (R) is not the cormect
explarmatron of (A)

(c) (A)is true, but (R) is false

(d) (A)is false, but (R) is true

121. Which one of the following is the correct seq uence of
the hills of Central Indis located from West to East 7

{2) Maikal, Satpura, Mahadeo and Chhotanagpus
(b} Satpura, Mahadeo, Maikal and Chhotanagpur
(¢} Maikal, Mahadeo, Satpura and Chhotanagpur
(d)} Satpura, Mahadeo, Chhotanagpur and Maikal

Criven below are two Statements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : The highest concentration of
Seismic zones lies in Himalayan region in India
Reason (R) : There are many longitudina| thrust
#ones in Himalayas.

Codes ;

122,

(a) Both(A) and (R} are true ang (R)is the correqt
explanation of (A)

(b) Both (A) and (R) are true, but ( R) is not the
correct explanation of (A)

(C) (A)is true, but (R) is false

(d) (A)is false, bur (K} is true

123, ‘Imphal Basin' surrounded by Manipy: hills is 3
fine example of

(a) Lacustrinegplain (b} TLoess plain
(c} Glacialplain ) Allvial plain

124. Which of the following riversis far i =
valley drainage “ous for its faul
(a) Chambal

() Gandak

(0) Damodar
(d) Ramagangy
125.  Which | /i
15 "Land of Big a8 "or
(2) Temperate Grasslang
(b) Tmp_i-:ral Monsoan Region
(¢} Hot Deser Region
(d) Tropica) Savanna Region

120. 13 3 o UM B

121.

122,

123

124

fyr s T T (A) T 3
RO TR g

Efﬁaﬂﬁm]ﬁmwm}ﬁﬁﬁgﬁawaﬂmy;
T (A) T GEl el Hdl S
(b) W{Mﬁ‘iﬂmmjﬁﬂg qT=]
T (A) i Hﬁwwﬁ 2 i)
(c) T (A)HEl B, ﬁ“ﬁgwmm% !
(d) FEF (A)TTe &, T FRO (R)E

7 i fiorg weifsal @ off9m @ qd
Eﬁﬁﬁﬁm—mwwmﬁ?
(a) HeTEr, TAYET, AEed 3 BIATTYH
(b) Hﬁg@ﬂﬁéﬁﬂaﬂaaﬁzm
(c) HeHTeT, WETCd, HaqRl 3N BRAFY
(d) wagg], AETGE, BEFATTHR 3R fehrer
ﬂ%ﬁ%ﬂmm"ﬁﬁﬁ%ﬁmwﬁm@i
#mmﬁﬁ%w%n
R A & o 3 T AT M

(a) % (A) 721 BT (R 21 e R R p—
YA (A) ! Bt = @ -

(b) = (A) T Fw (R) B gt TR
F(A) R T =men 2 # ey w

(c) % (A) e 2, g e (R) remy 2
(d) SR (A)Tera 2, fig wpron (R) &t 2

(©) e 8

125, PofRes prere 4 -
i 5§ ey 238 23 i

(2) o ST

A ] ey
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8.

with reference to the

Him
- Nalgya .
e statements is/are ¢ dvan

‘ orregy o

|. The sedimentary rockg of the
Himalayas were fassj) less

7. fl.-'lﬂf'i;ﬂﬁ livings fossjls are foy -

1. Remains of human cjvy: |
outer or Shivalik Himalayye

Gelect the correet answer ,c; .

helow

Codes :

() 1and 2 only

usi
NG (he “odes piven

{.h} 2 and 3 Dlﬂ‘y‘

c) !l and 3 only (d) 1.2 and 3 -
3 are corecy

Given below are two state.

Asscrtion (A) and the U’[hl‘;{?l Eﬂiﬂgnﬂ labelled a<

Assertion (A) : Akbar, |ike Shéramgm'

regulate the currency of the stare. '

Reason (R) : As in Shershah's

copper coin of Akbar’s time was the Dam

Select the comvect answer from the cades J_sliu'::n-l:e'lﬂw :

Codes : '

(a} Both(A)and (R)are true and (R} is the correct
explanation of (A)

(b) Both({A)and (R)are true, but (R)is not the comect
explanation of (A)

(c] (A)is true, but (R) is false

(d) {A)is false, but (R) is true

Arrange the following battles in chronological order
and select the correct answer from the codes given
helow -

I. Battle of Sarnal

Il. Battle of Bilgram
1l. Battle of Dharmat
IV. Battle of Jajau
Codes :
() 1, 1, NI, AV

i) Mg, 1,0V

(b) 11, HI, v, 1
) 1L 1 i Iv

[lowing
With reference to Hath Yog. which of the '

Hdlement 1s/are cOmecl 4 1 thanﬁhi
l. Hath Yog was practiCEd by e dnptﬂd b
L. Hath Yog technigue was also & |

(he codes BIVEN

8,
ythe

Sufis. ;
Select the correct answer Us!
low -
Codes ;
la) | only
(b) 2 only
't} Both | and 2

) Naiboe 1 ane?

nge

currency, the chicf |

|
|

126,

127

128.

129,

NIL-1 =19

fermera wda S & wan d Frafrfe 0o

-1 el R 7

. wmﬁwmﬁuﬁwﬁq%u

2. 719 femmerd 6 wieeR agEl 1w S
¥ ey firerd 3 | -

?Wﬁﬂmmﬁﬁﬂm%ﬂmﬂﬁmm
% arawm firet # |

iﬁﬁﬁq@@ﬁﬁﬂﬁﬁ?ﬁﬁﬁﬁ

&6

(a) Fo€1 | HT2  (b) A 2 I
(c) &t 1 33 (d) 1,2 o 35 &

A 2 wua foo o # G U #) wua (A ain

T <] T (R) gl TR

WU (A) : 3T 4 TS o T U9 & Mo

IO (R) : TR FET 9€0 F anm, s s

WHH & A9 1 g f oMY |

A feu 2 | | A 3w W = A

T

(a) HELA)FT T (R) THT wdl e R

{R) AT (A) =1 HEl = @

(b) SR (A) 3T AT (R) 2R Tt § g Ao (R)
FEH (A) R Tl s T 2

(@) 2 (A) HE &, T 0 (R) T B

fd) T (A) e 2, T wwrm (R R

L. 591 =1 45

11, T =1 qg

[11. UTa & I

V. TFH 1 45

o .

(2) 1L, L, 01, TV

(¢) T IL 1, TV

(b) 1L, I, 1V, 1
(d) I, I, IL, IV

€2 Im & ded 1 Tafsfas 4 o wh-m s
a0 JU S

1. &3 A TR Zr ST ATE T
2, % A Teran A1 Feht wet 7 oft argrn o
ﬁﬁq@@ﬁﬁaﬂmgﬁu

HE:

(a) wHad |

() & 2

(c) 1 3 25

(dy TAT 1A 2
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1310,

™ lgta System 9

Which one of the fo) lowing is NOT the characteristics

(4) Iqta wasg 4 revenue collection system

(b) Siya sdtama was the source of information

for Iqta System

() Revenue from Iqta was directly deposited in

Sultan's ACCOUng

d} M ugti was Stpported to maintain troops out of

the revene callected from Iqta

131, Which of the following is NQT correctly matched 7
{(Books) (Writers)
(a) Tabagar-i-Nagip Minhaj-us-Siraj-J uzjani
() Tarikh-i-Firozshqti Shams-i-Siraj-Afif
(€} T tghlagnamg Ibn Battuia
(d) “llﬂ'l'-ajﬂ.lﬂlna,mﬂ Gulbadan Begam
132 In which Year was the *“Native M AMage Act’ passed 7
(a) 1870 (b) 1872
(c) 1874 (d) 1876
133, Maich Ligt — [ with List — I and select the correct
ANSWwer using the codes given below the lists -
List - | List = [
(Movement) (Year) |
A. Pabng l. 1855-56 |
B. Eka 2. 1873-85
C. Santhal 3. 1922
D. Tana Bhagat 4. 1914
Codes ;
A B C D
(a) 1 27 @3
(b= S, 1) %
{fcke 3.1 4 2
d) 4 3 2 |
134, Which of the followingis NOT correctly matched 9
(Event) (Year)
(a) Indian Navy Act 1927
(b} Civil Disobedience Movement 1930

(¢) Second Round Tahle Conferenge 193]
(d) The Communal Award 1933

130

131.

132,

134,

AN AU ORD 0O

frefifias o & w-ad v fafirem g

saET T R 7 |

(b) Rramsmn sam sraeen 61 Twd i H o

(c) TF @ G Uerea @1 e & @
16 . :

(d) gt i g @ uwfaw voeE @ A
usd o

Fafafaa § & $h-m 7 EffEadi -

() GEEED
(1) TERIA-T-TIE0  FEEE—-Ia-faus
~AEATAT
(b) wrrE-u-frrsnd e -u- s - arfig
(€) TATeTRATHT T A
(d) EARfAT) GRS
'ﬁ%@ﬁ'ﬁ?ﬂﬁﬂfﬁﬁﬁl“l q1 7
(a) 1870 (b} 1872
(). 1874 (d) 1876
ﬁﬁﬁ-l%‘rzﬁr-uﬁﬁﬁmm.ﬁnq@ﬁ
%ﬂﬁﬁq%ﬁﬁﬁnﬁmgﬁq
et -1 — 11
(ATEI) H;t{-}
A HTET l. 1855.5¢
B. w 2. 1873.85
C. | 3. 1922
D. A 9 4. 1914
+e:
A'B C p
(ay 1 2 4 3
by 23 ;| 4
© 3 1 4 5
d 4 3 o
mﬁﬁﬂﬂ:{qmm%?ﬁ% "
(o) o
it
W SR 1939
(c) E’Fﬁﬂrﬁﬁ'ﬂﬁrm‘&ﬁ 193]
. At vt 1933
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130

137,

i

the following events in a chronological

Arrange
d select the correct answer from the codes

GE.,IEI" an

E[-.I.n;;n helow |
[ Appointment of Simon Commission
11 Jallianwala Bagh Massacre

(1. Mahatma Gandhi’s Dandi March

(v, Death af Ferozshah Mehta

Codes -

@, 1L LI

) L. . IV, 1
iy 1, L v, 1
() IV. ., I 1

he Officers of the LN AL was held in

The trial of t
(b) Gwalior Fort

rz) Red Fort, Delhi
c) Amer Fort, Jaipur (d) Agra Fort

Given below arc two cfatements, one is labelled as |
Assertion (A) and the other as Keason (R}

Assertion (A) = The Asiatic Society of Bengal
was estaplished in the period of Warren
Hastings and he modestly declined the offer of

Presidentship of that learne

Sir William Jones.
Reason (R} : Warren Hastings was himself a

great scholar and an ardent orentalist who used
e study of §anskrit, Persian and, |

d body in favour of

to encourage th

Aramc.

Select the comrect

Codes :

{a) Both (A) and (K] arc ius
explanation of (A}

(b) Both(A) and (R)are i, bt
explanation of (Al

(€) (A)is true, bul (R) is false

{d) (A)is false, but (K) is (rue

answer from the codes given below:

qivd (R) 15 the eomect

(R) is notthe coredt

With referenee to the National Calendar, which of

‘[hﬂl statements i&/ase Gorgect 7

-'The National Calendar of India 1
Vikram Fra.

2. The National Calendar is adopted fram

. January 26, 1950, |

h::s*: the correct answer using the codes given

kased on

(hy 2 only |

@) | only
(d) Meither | nor 2

[

135

| 36.

137.

138.

NJI.-1 =19

Py geraT T AT T EIEE Fifam i
3 fon 5 § & A AR

1. wrEaa T = fgfin
[ Aferataren Jr EETHRITS

v, frtiorame frea <l e

’*5_!3_!5:

@ v, 1L L 11

(b) L m IV ]

) 1. L IV I

@ v, nLo M |

FR.ELL %mﬁmﬁ?ﬁwwaﬂmwm
(a) ©TE eI, frefi O s{h}mﬁw{cﬁm“ﬁ
{c}aﬂﬁwﬁ‘iﬁ,mﬁ m}mmqﬁa’ﬁ

The :

(a) (A) IR (R)
HeT =TT B

(b} (A) 3T (R) 2t wdl 8, fr (R) e (A)
= Tt =e TH #

© (ué d, e /e #

(d) (A)TTETd 8, fg (R) TR B

u@mﬂaﬁ%ﬁéﬁrﬁﬁqammwaﬁ%f@?
l. sreefr gt e fR @ e @ |
o e wEPT i FEl 26, |g50 F 37T TR |

= Tdt & 3 (R)FH (A) T

ﬁﬁqmﬁﬁﬁmﬁﬂﬂﬁgﬁm
(a) =aer | (b) el 2
ey 13f 28 (d)#ﬁuaﬁwfﬂz‘
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130,

140,

141,

142.

143.

144,

In which year was accounting separated 'Fi]i:"
auditing and Comptroller and Auditor General’s
task only remained confined to auditing the
Government Accounts ?

(a) 1975 (b) 1977

(c) 1976 (d) 1981

Who opposed Planned Development in India 7
{a) Mahatma Gandhi (b} Jawaharlal Nehru
(c) Indira Gandhi  (d) Rajiv Gandhi

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) ; Anicle 30 of the Constitution of |

India does not define the term "minorities”.

Reason (R) : The Constitution recognises only |

linguistic and religious mirorities,

Select the corvect answer from the codes piven below

Codes ;

(@) Both (A) and (R) are true and (R) i¢ the
correct explanation of {A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(€) (A)is true, but (R) is false
(d) (A) is false, but (R) is true

With reference to the federal system in India. which

of the statements isfare correct 7

I. States have no right to secede from the Union
under the Constitution of India.

2. Just advocacy of secession will have the
protection of freedom of expression,

Select the correct answer from the.codes given

below :

(a) 1 only

(c).Both 1 and 2

(B) Ponly
(d) Neither 1 nor 2

Which of the following is NOT comectly matched 7
(a) Public Health and Sanitation State List
(b) Census Union List
() Allgcation of scats Second
in the Council of States Schedule
(d) Anti-Defection Tenth Schedule

How many items are th_er? inthe 11" Schedule of
the Constitution of India ?

(a) 22 (b) 24

{c) 29 (d) 32

1400,

141,

142

143,

144,

LT

form and if wrdfin =1 arifefén (e wh)
v o e PRl TE TETerE Tl 5
1 Fad wERd) wE aF it ® g
(a) 1975 (b} 1977

(c) 1076 (d) 1981

v # Bt e @1 fatie frd fmn
(a) WETEHI TIE) (b) STETEET
(c) 3fear mif (d) TrirE T

A & & fo o # R o B WY (A)m
Zat Y T (R) el TR

HUA (A) : WG Wi F1 3g 30 HeTHE
@l wreg w1 aftwriia 32 w5 @ |

HAUT(R) - HiauE Sam s 3R uififs semws
it = g YR R

= for M W/ @ I g

Fe

(a) (A)IM(R)THT #& € 3R (R)FYF (A) H
o e 4

(b) (A) N (R) g wet & o (R) &8 (A) )
el = JE6 2

(2) (A) = & fg (R) e 2

(dy (A) Tom B, R (R)EE &

W HuTes Saeen F we 1 Rofafe §

-4 e wE B/E o

| W dfaes % sty usat 9 5y & s
B w7 st a8l & |

2. S EH A S w0 w sy 6

AN QU 30 2 A @ o s w1 S i
(a) e | (b) e 2
(¢) 1 3fT 225

Y e
(c) =9 ¥ 9§ Hidl &1 szamy ﬁﬂ“’maﬁ'ﬁﬁ
(d) TerEe fay eudl s
AR 5 W 11 S s § R e g
(@) 22 (b) 24
(c) 29 (d) 32
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f

=,

Iy

ropstitution are applicable in which of the

erence (0 Prime Minister's Office (PMQ)

i €
itk of the stalements is/are correcy 7

Wi’ ch O

; i ;h,:ﬂded by the Cabinet SEETEL-_‘IT:,?

xistence in 1977,

ol fhe comect answer from the codes given below -

Codes * |
) Unl-_-,rz (b) Both | and 2
. only | (d) WNeither | nor 2

The prmiiinns of the sixth Schedule of Indian |

following states 2
(b)y Sikkim
i(d) All of the above

(z) Tripura
(c) Nagaland

umich of the following is NOT comectly matched 7 |
() Habeas corpus “To have the

body of'

‘We command’

*Ta be cen fied"

‘By what quthority’

(o) Mandamus
j¢) Prohibation

Id) Quo-warranto

The Money Ball is defined in which Article of the
Constitution of India ?

(b) Article |10

(d) Article 112

{a) Article 109
(2] Article 111

red by PLM. Maod
Cross border oil pipehne maugﬁ::n of the follawing

in Septe mber 2019 connects W
Cilies 7

(3) Motihar and ﬁrﬁlﬂkhga"j _
(b} Darbhangd and Ame khgan]
(e) Monhariand Kﬁ!thmandll

\d) None of these
e’ by the

4 Heritage S e ﬂrd

. id
prot Laittee” 10 ;

Jaipur was listed as
a Gom

UNESCO “World Hentak
Session held in the CIEY
12) Baku [ﬁzcrbﬂ.izﬂﬂ?
() Bishkek (Kyrgyzstan)

fe) Istanbul (Turkey)
Id) Marakesh (Morocc®)

_24-

145,

146,

147.

148.

149,

150
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gqﬂtﬁ”r srafem (A.AaM.) & Fmey ©
—Faftgg 1 § HH-91 B T BB 7

| 7@ 1977 & e 3 S |

i fam o 2 & @ I AT

T :

(a) e 2

(c) Fae |

(hy 132 gA
() AT 1 FRAH2

i dfgu @1 wal FHEHl & aEaE
a5 & Frg Toa § @ B 8 7

(a) P by faftem

(¢) ATTAVE (d) IwirE A

ﬁmﬁanﬁﬁ—maﬁgﬂhﬂ#ﬁ% d
7 ¥ fg @iet o

| FHATE"
7 &t HEHES
wt =g wifte

(n) =g 100 (b) ¥A=os 110
(c) FT=ee 111 (d) FA=9g |12

ﬁaﬁtmwﬁmnﬁtﬁﬁﬁmaqmﬁmﬂm—mﬁﬁ
TrEueEA (4 Grhefegn & f3 o1 Tl = Fgdl 8 7
() TR T STHEET

(b) TOTT T SHAETH

Wﬁﬁmaﬁ:ﬁwaﬁmmﬁﬁm
@daﬁmnwﬁ foya OiTET Fuer & ®0 4

et o T R
(a) FE (LA



